Ne | HaumeHoBaHune Kon-Bo|  ApTukyn
19 | KpbilwKa KapTepa 1 248-467-019
20 | npoknagka KpbllKa KapTepa 1 248-467-020
21 | BUHT M8x22-left 1 248-467-021
22 | KoneHBan 1 248-467-022
23 | kapTep 1 248-467-023
24 | canbHVK KOneHBana 1 248-467-024
25 | nogwmnHuk 6204-2RZ 1
26 | aAkopb 1 248-467-026
27 | nopwmnHuk 6202-2RZ 1
28 | ctaTop 1 248-467-028
29 | KpblLWKa ABUraTens 3agHAs 1 248-467-029
30 | waiba-rposep 4
31| BUHT 4
32 | KONbLO CTOMOPHOE KPblfbYaTKn 1 248-467-032
33 | KpbinbyaTKa 1 248-467-033
34| BUHT M4x10 1
35 | waiba 1
36 | KOHHEKTOP NPOBOAOB 2
37 | KoHaeHcaTop 1 248-467-037
38 | wanba 1
39 | dunbTp Go3AYLLHDIN 1 248-467-039
40 | naTpy60K BbIXOAHOM 1 248-467-040
41 | koxyx fBuUraTens 1 248-467-041
42 | BuHT M5x10 2
Ne | HameHoBaHue Kon-Bo| ApTukyn || 43 |BuHT ST3,4x16 2
1 |6onT M8x103 4 44 | HaknaaKa Ha pyuKy 1 248-467-044
2 | ronoBKa uunAMHApa 1 248-467-002| | 45 | KnanaH nepenyckHom 1 248-467-045
3 | npoKnajaKa rofoBKu 1 |248-467-003|| 46 | 6onT M8x25 4
4 | ocHOBaHwWe KnanaHa 1 248-467-004 || 47 | ranika M8 4
5 | KnanaH-nnactuHa 2 |248-467-005|| 48 | Tpy6Ka 1 248-467-048
6 |wtndr 4 |248-467-006||49a| pecuBep 24 nutpa 1 248-467-049
7 | npoknafKka OCHOBaHWA 1 248-467-007 | |49b| pecusep 50 nutpa 1 248-474-049
8 |unnuHap 1 248-467-008| | 50 | koneco ¢ 6ontom 2 248-467-050
9 | npoknagka uunuHapa 1 248-467-009|| 51 | KnanaH cMBHOM 1 248-467-051
10 | npobka KapTepa cnvBHas 1 [248-467-010(| 52 | amopTusatop 2 248-467-052
11 | KonbLa NOpLUHEBbIE(KOMMIEKT) 1 |248-467-011|| 53 | TpybKa 1 248-467-053
12 | nopweHb 1 248-467-012|| 54 | wWHyp ceTeBoW 1 248-467-054
13 | nanew nopLwHa 1 248-467-013|| 55 | KnanaH npeaoxpaHUTENbHbIN 1 248-467-055
14 | KonbLO CTONOPHOE NanbLa 2 | 248-467-014|| 56 | BbikniovaTenb 1 248-467-056
15 [ watyH 1 248-467-015|| 57 | perynaTtop AaBneHua 1 248-467-057
16 | canyH 1 248-467-016| | 58 | UTVHI-NEPEXOAHNK 1 248-467-058
17 | BUHT M5x14 6 59 | MaHOMETp (HaBneHue Ha Bbixoae) 1 248-467-059
18 | NpobKa-MHAVKATOP YPOBHA Mac/a| 1 248-467-018| | 60 | maHOMeTp (naBneHve B pecvepe)| 1 248-467-060

KVl 24-200
KVl 50-200

Reparto tecnico

Disegno di montaggio

Ingegnere progettista capo

Antonio Saldatori

Quattro Elementi S.r.l,, Italy

Page 1




